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Lv9uEe 500k 1
EREIR AH AH
A—H—  TEEMERR  TIERUERR
EEEE h 0.5 1
LY9 LR 1hy 2 25 3
e VH =B kg 9.5 105
A—H— —vF by 3by 5k
THEE b 1 AH AH AH
52 m 4 TIEBUMERR  TIEBUMERR T EESUMERR
E—9—HH W 1,400 2 3 5
BEI—R  m 36 3 3 3
EFF—rJOvy Eox kg 55 Fr—rJOvT 17 24 38
| P2Ari*P¥Vi
At 3/4hy 156 3k
EEI cv3 cv3 cv3
A—H— ZEERUERR ZEERUERR ZEEBUERR
EHEEE ke 0.75 15 3
B2 m 15 15 15
LN=J0v7 g kg 6.2 95 15.5
WaEY v+
ZA:ES a4y 10~y 20~ 30 50hY
FE ED-40 ED-100 ED-200  MH-30Y  MH-50Y
A—H— A=W A=W  A=D)  IYIBER THIEER
HEmEE k> 4 10 20 30 50
Zh0—7 mm 110 130 140 160 170
HEES mm 201 252 288 280 305
HEY v+ s kg 4.1 8.0 15.3 18.7 37.0
| Bl AN R
L9 ILes 10hY  10hY  20hY  20hY  50hY
IR E10S5 E10S15 T20S5 T20S12.5 E50S5
X—H— KRIvyF+ KRVvyF+ KRVvyF RRIvy+ KRIvv+
. HEEE v 10 10 20 20 50
ZhO—27  mm 50 150 50 125 50
BEST mm 125 250 154 295 170
DX IryF FEHERYT =8 kg 26 46 5.8 11 15




